CSAT TEST

Total: 50 MCQs

Time: 90 minutes

For every correct answer, 2.5 marks will be awarded; while 1/3" of the marks will be deducted for every

incorrect answer

1. While adding the first few 1. WWWWW@[@
continuous natural numbers, a Gﬁ?)?fw w?ﬂ:ﬂwwm@r
candidate missed one of the|qdd Ul 3R I IR 177 el
numbers and wrote the answer as ﬂﬁqﬁmiﬁ.’ﬂg Adt?
177. What was the number missed?
a) 11
a) 11 b) 12
b) 12 c)13
c) 13 d) 14
d)14
2. If all the numbers from 501 to 700 | 2. Tf¢ 501 T 700 T BT THI T=TSAT
are written, then what is the total | ®! foraT ST a1 3i® 6 gv_c'[ﬁ?_d:ﬁa'l?
number of times does the digit 6 37T 872
appear?
a) 138
a) 138 b) 139
b) 139 c) 140
c) 140 d) 141
d) 141
3. Each of A,B,C and D has Rs. 100. A | 3. A, B, C 3R D H ¥ Y& & U 100




pays Rs. 20 to B, who pays Rs. 10 to
C., who gets Rs. 30 from D. In this

context, which one of the following

TUAEI A, BHI 20 UL eal g, S C
$I 10 ¥UA a1 g, o9 D A 30 3W
faea g1 39 9 A, fufafaa & A

statements is not correct? GaC gl b YA ﬂﬁ T-Iﬁ %?

a) Cis the richest a)C Iqd R %

b) D is the poorest b) D I TR %

c) C has more than what A and D c)Ca?WAGﬁ?DEﬁW'\‘Wﬁ'T'@
have together 3 8

d) B is richer than D d) B, D 3 3ifire GITﬂT%

4. If m and n are natural numbers | 4. af¢ m 3R n Wﬁlﬁ? Wﬁ_ﬁ

such that 2™ - 2" = 960, what is the

value of m?

a) 10
b) 12
c) 15

d) Cannot be determined

f$ 2™ - 2" = 960, T m BT HH AT 27

a) 10
b) 12
c) 15
d) 07 5! fobaT & Hhdn

5. The unit’s digit of 13°°® is

a) 1
b) 3
c)7

5. 13 2903 {f gpTe BT (b ¢

a) 1
b) 3
c)7




d) 9

d)9

6. If x is an even number, then x*",
where n is a positive integer, will

always have

a) Zero in the unit’s place
b) 6 in the unit’s place
c) Either 0 or 6 in the unit’s place

d) None of these

6. afe x TP JH BT B, @l x*" , WG
n T YFTHSD [UIP §, THRIT 3@

a) §PI8 & T W
b) SPTs P U W 6

) SHIS F WU UI AT 0 T 6
d) 574 4 PIg T8l

7. Let a number of three digits have
for its middle digit the sum of the
other two digits. Then it is a multiple

of

a) 10
b) 11
c) 18
d) 50

7. 99 oifore 99 3iel &t T T&
& T 3P AT I 3Bl BT AT gl
| 99 I8 YUl §

a) 10
b) 11
c) 18
d) 50

8. If m and n are integers divisible by
5, which of the following is not

necessarily true?

a) m + n is divisible by 10

8. fe m 3R n, 5 T Uy Qife &
af fFuafafaa & @ #19 a1 smawa®
U I T8l 82

a)m + n, 10@%141?1%




b) m - n is divisible by 5
c) m?-n? is divisible by 25

d) None of these

b) m-n, 5@%‘141?1%
) m?-n?, 25 9 faursa 8

d) T8 | BIS el

9. If x and y are two digits of the
number 653xy such that the number
is divisible by 80, then x + y is equal

to

a)3
b) 4
c)5
d) 6

9.qﬁx3ﬁ?ym653xy$€fﬂ$
R T so AfAUTT §, A x + y
IR 3

a)3
b) 4
c)5
d) 6

10. If n is a whole number greater
than 1, then n’(n®* - 1) is always

divisible by

a) 8

b) 10
c) 12
d) 16

10. Tfe n, 1 T 931 T Ul G©1 7, a1
n%(n?- 1) gaEn A fAursg ardt @

a) 8

b) 10
c) 12
d) 16

11. What is the remainder when 4% is

divided by 51

11. 4% 91 51 9 fauToa fFaT waT 8|
ol ATB HIT IdT &2




a) 20 a) 20

b) 41 b) 41

c) 50 c) 50

d) None of these d) 3_-11?[@ aﬁi 7'|€f

12. When 2%*® is divided by 17, the | 12. 91§ 2%*¢ &1 17 ¥ fauifora foar
remainder would be ST B, <f AYBd T SR

a) 1 a) 1

b) 14 b) 14

c) 16 c) 16

d) None of these d) 37{1?[@ H’ﬁ% el

13. 21 mango trees, 42 apple trees
and 56 orange trees have to be
planted in rows such that each row
contains the same number of trees of
one variety only. Minimum number
of rows in which the trees may be

planted is

a)3
b) 15
c) 17
d) 20

13.21 MM & Us, 42 A9 & Us 38X
56 Hd¥ & U Ufeadl H s9 UPR
e 9 € F ude ufeq # Fad
o ¢l {6 & Ui 91 JHH GBI 8|
Ufeaal @ gHau "Sen oad is
A ST Hehdl &

a)3
b) 15
c) 17
d) 20




14. A rectangular courtyard 3.78

metres long and 5.25 metres wide is

14. 3.78 HicY @d 3iR 5.25 Hiex 9
TP AAATPR 3 D foepad GHH

to be paved exactly with square tiles, | [THIR P PR E'I%?ﬁ ¥ gt foar
all of the same size. What is the | STl % | <ISd I L dST ATPRR
largest size of the tile which could be | HIT 8 forgeT Sud e Bi'-'m & forw
used for the purpose? forar < gwar 82

a) 14 cm a) 14 aH

b) 21 cm b) 21 I+

c) 42 cm c) 42 I

d) None of these d) 3_-11?[ I aﬁ's‘ el

Directions(Ques 15-16): Each of the m-ﬁi&ﬂ ( U4 15-16): Agferfaa
following questions consists of a TP U H TP UY 3R 3P q1¢ <7
question followed by three | ®Yd I, Il 3R 11 MRS &1 SMusT Uy
statements |, Il, and Illl. You have to 3R BYAT BT AT BT ﬁTIT 3R
study the question and the o dmem Py FISTWREA &
statements and decide which of the maﬁqﬂT$ﬂ?GﬂW%/%l

statement(s) is/are necessary to

answer the question.

15. In how many days can the work

be completed by A and B together?

15. A 3R B fua®r & &t fFaq
f&=i o 31 HY G@d 82

l. A 3PA B Bt 8 faAl & T H
&dT 2|




I. A alone can complete the work in 8
days.

Il. If A alone works for 5 days and B
alone works for 6 days, the work gets
completed.

Ill. B alone can complete the work in

16 days.

a) | and Il only

b) Il and Ill only

c) Any two of the three
d) Il and either | or 1l

. fS A 3P 5 37 3R B 3rFd 6
e B ®, A ed gt ST ®
lI. B 3fbel 16 fel & o1d [T HR
Jpar gl

a) dad | 3R Il

b) Tad 11 3MR 11
c)?ﬂ?ﬁ'\ﬁaﬁ%ﬁ
d) 1 iR arar 1ar i

16. In how many days will B alone
complete the work?

I. A and B together can complete the
work in 8 days.

Il. B and C together can complete the
work in 10 days.

lll. A and C together can complete

the work in 12 days.

a) Only |l and Il

16. B 3bha fba feai o & @1
DN

. A 3R B frae? &1 =t 8 feAf &
RIHIAPA G|
1. B 3R ¢ faer &1 & 10 feAi &
TRT HX Thd g |
. A 3R ¢ firass st & 12 feai &
URT B THd g |




b) Only Il and IlI
c) All L, Il and 1l
d) Question cannot be answered with
in all the three

the information

statements

a) pad | 3R I

b) Had 11 3T 111

o) vt 1, 3R m

d) U &1 I a1 w7 & TS
WS TRY | 6l fear o1 gadn

17. A man, a woman and a boy can
do a piece of work in 6, 9 and 18
days respectively. How many boys
must assist one man and one woman

to do the work in 1 day?

a)>5
b) 6
9
d) 13

17. & Yo, U Higal 3R TH
TASHI UH DI Bl HUI: 6, 9 3MX 18
foi o Y apd €1 1 o7 & s g
®H A fHaq ds@! B Te IV 3R
U ARl 1 Jgraar 1 giil?

a)5
b) 6
c)9
d) 13

18. A started a work and left after
working for 2 days. Then B was
called and he finished the work in 9
days. Had A left the work after
working for 3 days, B would have
finished the remaining work in 6
days. In how many days can each of

them, working alone, finish the

18. A 7 TP &TH IR= fbar 3R 2 faT
HH B & dI¢ IS feanl fibe B &t
AT 1T 3R I 9 a1 | B W1
RfeanaiR A3 fiAsm s &
91¢ ™ Bte faar giar, af B 7 AW
o 6 feT A RT B o gran 39
9 TP fPd P HId ¢ R R
foram oAl # 1 &% Iar 32




whole work?

a) 2.5 days, 7.5 days
b) 5 days, 8.5 days
c) 5 days, 15 days

d) None of these

a) 2.5 f&, 7.5 fa=
b) 5 fa, 8.5 fa
o) 5 fem, 15 fa
d) §79 | PIg 76l

19. Two pipes can fill a tank with
water in 15 and 12 hours respectively
and a third pipe can empty it in 4
hours. If the pipes be opened in
order at 8, 9 and 11 a.m. respectively,

the tank will be emptied at

a) 11: 40 a.m.
b) 12: 40 p.m
c)1:40 p.m.
d) 2:40 p.m.

19. Sl UTSY U <! Bl HHIT: 15 3T
12 9 # UM ¥ R 9Pd & 3NR dRT
OISy 39 4 He § Wil BT Il gl
gfe UTSy HHR: Jag 8, 9 iR 11 99
WA ¢, §) T @reft g1 ST

a) JdE 11:40 991
b) 12:40 T
c) 1:40 T
d) GIUg 2:40 i

20. A tank is filled in 5 hours by three
pipes A, B and C. The pipe C is twice
as fast as B and B is twice as fast as
A. How much time will pipe A alone

take to fill the tank?

20. 19T UTSU A, B 3R C TH I B 5
He W YR IPHd 81 UTSY C, B | GR[AT
A 2 3R B, AR QAT AW 21 UTST A
3PA &P B WA A fora=T1 IHg Am?

a) 20 ©¢




a) 20 hrs
b) 25 hrs
c) 35 hrs

d) Cannot be determined

b) 25 Td
c) 35 Hed
d) g g1 fooar i1 Apdr

21. A correctly remembers that B's

birthday is in the month of
September. C correctly remembers
B's birthday is after 18th September.
D correctly remembers that B's
birthday is on a Friday and before
28th September. If the first day of
September was a Wednesday that
year then on which date is B's

birthday?

a) 27th
b) 21st
c) 19th
d) 24th

21. A ®l 3% A ug © f& B &
s e fdar #d_ d 81 ¢ &t diw
¥ ar1g 8 {5 B &1 fe 18 RidaR &
eI DH SF A UGB fF B oI
SHfeT YFPAR &I 3R 28 f¥ydaw |
Usd gl afe 39 auf Ryder &1 ugen
e geUar o1 @t B &1 SAfeT b
AR @I 82

a) 27th
b) 21st
c) 19th
d) 24th

22. On what dates of April, 2001 did
Wednesday fall?

a) 1st, 8th, 15th, 22nd, 29th

22. 3[0d, 2001 &t fpg dRE@ &t
JUdR UST?

a)1di,84dl,15dl,22d1,29di

10




b) 2nd, 9th, 16th, 23rd, 30th
c) 3rd, 10th, 17th, 24th
d) 4th, 11th, 18th, 25th

b)23T,94dl, 1641, 23T, 30l
c)330,104dr, 174T, 24T
d)4di,11di,184di, 25dl

23. A clock is displaying correct time
at 9am on Monday. If the clock loses
12 minutes in 24 hours, then the
actual time when the clock indicates
8:30pm on Wednesday of the same

week is

a) 8pm
b) 7pm
c) 9pm
d) 8:59:45pm

23. U9 US! AHAR &I Jdg 9 Iof el
way o ¥t g1 afe uagt 24 @t A
12 fore vt 8 oIt 8, &Y arafae
IHq 71 g1 o9 g3t 34T IE &
JUAR P I 8:30 Toi ST Bl 8

a) 8:00 3AURTa
b) 7:00 3UT&
c) 9:00 3URT&a
d) 8:59:45 W&

24. A clock is set at 10 am. The clock
gains 10 minutes in 24 hours. What
will be the right time when the clock

indicates 3 pm on the following day?

a) 12:40pm
b) 1:40pm
c) 2:40pm
d) 2:48pm

24. Th T3! g 10 991 A< 1 T8 21 |
Sl 24 G2 ¥ 10 fiFe o 8 W<l B
AT fe o9 ¥ RIE 3 I @I
Hoa it af TEt gHa = ghm?

a) GIUgY 12:40 T
b) GIUEY 1:40 Tl
c) GIUEY 2:40 9
d) GG 2:48 T

11




25. The angle between the minute
hand and the hour hand of a clock

when the time is 4.20, is

a) 0 degree
b) 10 degree
c) 5 degree
d) 20 degree

25. 99 JHY 4.20 I i gt Bt
firic o g3 SR ¢ B Jg &
fasTHUEaT

a) 0 {3
b) 10 fS3Ht
c) 5 f&h
d) 20 f&3ht

26. A does 20% work and B does the
rest of the work then the time taken
by both the workers is 20 days. If B
did 20% of the work and A did the
rest then the time taken by both
workers is 32 days. Find the time
taken by A alone to complete the

work?

(a) 32 days
(b) 36 days
(c) 16 days
(d) 25 days

26. A 20% HTH Pdl & 3R B
Dt BT BT § ol Sl YiHDI
g1 forar war w9y 20 &= 31 Afe
B H 20% ®TH forar 3T A 3 a1t
oM foar af Al gffel grRT
foram ar g9y 32 R 81 A g1
ferar T gvg J19 Siford o9 98
Shdl BT GRT He?

(a) 32 f&T
(b) 36 f&
(c) 16 &
(d) 25 f&1

27. A can do a piece of work in 30

days and B can do the same work in

27. A TP HBTH $I 30 e § &
IPhdl g 3R B I BH B 20

12




20 days. In how many days will A and

B do this work together?

(a) 10 days
(b) 15 days
(c) 12 days
(d) 18 days

faf &< 91 21 A 3R B
ey g8 o foaa fat &
PI?

(a) 10 f&=T
(b) 15 &=
(c) 12 f&
(d) 18 f&=

28. A and B working together can
complete the work in 12 days. A can
complete the work in 20 days. If B
does work for half a day daily, then
in how much time will the work be

completed together?

(a) 18 days
(b) 15 days
(c) 20 days
(d) 24 days

28. A 3R B UT% 1Y HTH b
12 f&1 & &1 T HR GHd E1 A
&1 B 20 fe A T B Goar
g1 afe B ufafew emur feq ord
HXdl g, a1 B Ifg A 3R B A1y
DTH H fHa- T9g § qRI gHm?

(a) 18 f&=T
(b) 15 &=
(c) 20 f&
(d) 24 f&

29. A takes as much time as B and C
together complete a work. While A
and B together can do this piece of

work in 10 days. C alone can do this

29. A I IdT & THT T &
foramT B 3R ¢ fiaer e o™
RI Hd &1 9a9fd A 3R B
fira®? 59 & &t 10 e A R

13




piece of work in 50 days. In how

many days will this work be

completed by B alone?

(a) 20 days
(b) 12 days
(c)25 days

(d) 40 days

9od 21 C 3Ppd 39 BH BT 50
fe A &3 gpar g1 98 * B
3rbet fopem o1 A [T w2

(a) 20 f&T
(b) 12 f&A
(©)25 &

(d) 40 f&=

30. A can do a piece of work in 12
days and B can do the same work in

18 days. Both A and B start the work

30. A U% &1H &I 12 fei § &2
Iobdl g 3R B Il H1H Bl 18
fai & HY APpar 21 A 3R B Al

and after some days A leaves and B | PTH Y= Hd © SfiX 23] fei &
completes the remaining work in 8 |dig A @3’ ¢d1 8 3R B W &
days. After how many days will A |8 fer & URT ddl gl A fraq
leave work? fe qre & m iﬁ@_ﬂ'ﬂ?

(a) 4 days (a) 4 fa=

(b) 3 days (b) 3 f&=

(c) 5 days (c) 5 e

(d) 8 days (d) 8 fe=

31. How many men and women can | 31. fram gy 3R Hfede T
complete a piece of work in 15 days? | TH &I 15 fei # IRT PR qohd
I. If 12 men can complete the same 82

work in 20 days. . af¢ 12 3t It &1 &t 20

14




Il. If 10 women and 6 men complete

the same work in 12days

A) Statement | is sufficient to answer
the question

B) Statement Il is sufficient to answer
the question

C) Both | and Il are sufficient to
answer the question
of the statement is

D) None

sufficient to answer the question

o o 1 R gd B

. afe 10 Afgang 3R 6 TBW
U ®1d &I 12 &1 § R Pvd
T

A) BUT | UY BT IR ¢4 & forg
Tt @

B) HUT Il UY PT IWX &4 & ¢
gt @

C) UY PT IR ¢4 & ferg 1 3w 1
gl yatw &

D) ®ig W ®YT UY BT IR A

¥ R wafa a8 @

32. Sum of two irrational numbers A
and B is 0, then what can be said
about their product.

(1) Product must be a rational
number.

(2) Product must be an irrational
number.

(3)

number.

Product may be a rational

32. I UNAY T3 A TUT B
®T T 0 8, d 3P UHwd &
IR H T BT Sl Gl 82

(1)TUFwd Th URAT HBAT BT
Gy

QUArY TP SURHAT HEI
I =R T

G)UFPd TP URAT B 8
qHdar gl

15




(4) Product may be an irrational

number.

(@) Only 1
(b) 2 and 3 both
(c) 3 and 4 both

(d) All are correct

(4)TUFhd Th URTT HBT 8t
gpdi gl

(A) Had 1

(B) 2 3R 3 I
(C) 3 3M} 4 g
(D) A+t wE1 §

33. The six-digit number 439xy5 is
divisible by 125. How many 6-digit

33. B 3idl DI TGAT 439xy5,
125 ¥ fQUrsa 81 6 3wl &I

numbers are possible? fa-t H'@IT\E' Y4 §?

(a) 3 (A) 3

(b) 4 (B) 4

(c) 5 (©5

(d) 6 (D) 6

34. If a six-digit number is formed by | 34. gfe 49 sidl &1 J@r (ﬁﬁ
repeating a three-digit number (e.g. | abcabc, 512512) Pl GIgTHY B8
abcabc, 512512), then that number 3Pl I BT GTI'I's:TrI'I?ﬁ % dl 98
will be divisible by: e faunfora gif:

(@) 7 (@) 7

(b) 11 (b) 11

(c) 1001 (c) 1001

(d) All of the above (d) B'ITQTEI t: e i )

16




35. A man engaged a servant on the
condition that he would pay him Rs
2,500 and one uniform after one year
of service. He served only for 8
months and got Rs 1,620 and a
uniform. What is the price of a

uniform?

(a) X140
(b) X110
(c) X100
(d) ¥150

35. T G A TP PR P 59
Td W g forar fr ag sA te
q¥ $t J91 & 915 2,500 IUY 3R
TS a<f &1 I Had 8 WgH
d% JqdT B 3R 3% 1,620 3T
3R ve adf et T adf #
DU T 3?2

(a) X140
(b) *110
(c) 100
(d) ¥ 150

36. A drum of kerosene is 3/4 full.
When 30 liters of drawn from it, it
remains 7/12 full. The capacity of

drum is:

a) 120 liters
b) 135 liters
c) 150 liters
d) 180 liters

36. fiIg! & Ad BT TP SH 3/4H:T
g3 81 39H ¥ 30 Wiex Ul
fpTa W 98 7/12WR7 &1 B
$H B & B:

a) 120 diex

b) 135 eftex

c) 150 Tiex

d) 180 ©lex

37. Consider the following question

and statements and decide which of

37. Fufefad Uy ok oyt W
foaR &% Sk fAulg & fb &= &

17




the statements is sufficient to answer
the question.

What is the total weight of six
boxes? Each of them is equal in
weight.

Statements:

1. One-third of each boxes' weight is
2 kg

2. The total weight of four boxes is
12 kg more than the total weight of

two boxes.

A) Only I sufficient
B) Only Il sufficient
C) Both | and Il are sufficient

D) Neither | or Il are sufficient

HYT U¥ PI SR o1 & o€
T gl

B¢ TRl BT $d o [baT 82
S8 | YD &1 gol SRR g
DHY:

1. YO® 999 &1 TP fagrs aod
2 fpeiuma 8

2. IR 1 BT $d aoI g aadl
& $d gei- A 12 fatum siftre
gl

a) $9d | TaTW 3

b) &ad Il YT 8

c) | 3R 1l I yafed @

d) a1 R T nvafa &

38. What is the difference between p
and q?

Statements:

1. p is 70% of z.

2. qis 60% of z.

but not

(a) Statement 1| alone,

3s.paﬁ'\rq%dﬁwaiav%?
hY-:

1.p, zPT170% B
2.q, 291 60% Bl

(@) 3bpd PYT |, dfpd 3Pbad
YT Il 8], UY BT SR &1 &

18




statement Il alone, is sufficient to
answer the question.
(b) Statement Il alone, but not
statement | alone, is sufficient to
answer the question.
(c) The question can be answered

with the help of both the statements

fore vafw g1

(b) PA HYT II, Afb 3o
HYT | T8, U4 BT IW 37 P Riw
o gl

(c) UY BT IR gl $YAI &1 TH
Y "eg o fear o1 wwan ®,
dfea srba felt Wt Fuy= +1

together, but not with the help of | Hag SER]

either statements alone. (d) old d& 3Mftred JAFBRI YUald
(d) The question cannot be answered qﬁ & STl 99 db UY BT I
unless more information is provided qﬁﬁtﬂ Sl b dl

39. Is today a Friday? 39. T 35 Y[HAR 8?2

I. The day after tomorrow is Sunday. |I. TRl QAR g

Il. Three days ago was a Wednesday. | II. o+ feq ugw qYUdIR YT.

a) Only statement | is sufficient to | a) Had YT | Y BT IR aef
answer the question & forg yaie 8

b) Only statement Il is sufficient to
answer the question

c)Either of the statement is sufficient
to answer the question

d) None of statement is sufficient to

answer the question

b) Had HYT Il U PT IR o
& forg wafw @
c) ®ig Wt YT YA BT W &4
& forg wafw @
d)®ig W FYT U BT I oA

¥ fore yafa 8 @

40. On which day of the week will

40. 3TA 94 YRT BT STAICH

19




Sarah's birthday fall next year?

I. Sarah’s birthday is on a Thursday
this year.

Il. Next year is not a leap year.

a) Only statement | is sufficient to
answer the question

b) Only statement Il is sufficient to
answer the question

c)Either of the statement is sufficient
to answer the question

d) None of statement is sufficient to

answer the question

g & fod fe usm?

. IRT BT THGH 59 4 [EAR
®i gl

1. 3rTeT oY &g 9 F8 3.
a)Pad PYT I IRA BT SW A &
fore v 3

b)$ad HYT I U BT I a1
& forg wafw @

)P Wt YT U &1 IR A
¥ oo yafw @
d)®is Wt YT Y BT IR ¢4

¥ fore yafe 8 2

41.What is the time on the clock
when the angle between the hour
and minute hands is 90 degrees?

I. The time is between 2:00 and 3:00.
Il. The minute hand is on the 6.

a) Only statement | is sufficient to
answer the question

b) Only statement Il is sufficient to
answer the question

c)Either of the statement is sufficient

to answer the question

41. 3 W JUT AT § &9 ©e
R fde &) ggal & d @
i1 90 f&lt 82

1. THI 2:00 | 3:00 T & A &
e FI g 6 R 8.

a) padd HYT | U BT I a1
& forw i @

b) $ad HYT Il YT BT I A
& forg wafw @

c) Big W YT YA T IR &
& forg wafw @

20




d) Both the statements are necessary

d) U4 &1 IR ¢ & forg e i

to answer the questio Y AT &

42. At what time will the hour and | 42. T3 95T ﬂ?ﬁ P Ue ST
minute hands of the clock overlap? e &t '\ﬂ'&f'CIT sﬁaﬁtr Eﬁ"‘ﬂ?

I. The time is between 11:00 and |I. HY 11:00 I 12:00 a?iﬁ?[%I
12:00. nAFc I gg 6 IR E.

Il. The minute hand is on the 6. a)l Had YT | U BT IAX aef
a) Only statement | is sufficient to & ﬁl’l;f gl %

answer the question b) | Had HYF 11 Y BT IR aef
b) Only statement Il is sufficient to & ﬁl"’{ g %

answer the question

c)Either of the statement is sufficient
to answer the question

d) None of statement is sufficient to

answer the question

¢)| DI Ht YT Y BT I &4
¥ Rwwas
d) | B3 Ht FYF U BT IR 4

¥ R wafa a8 @

43.Was yesterday a weekend day?
.Today is a Monday.

I.Two days from now will be
Wednesday.
a) Only statement | is sufficient to

answer the question
b) Only statement Il is sufficient to

answer the question

43. 1 A AATSId BT fa UT?
1. 3T AR 2

I1. 3/ ¥ I faT 91¢ gUarR gL
a) Had HYT | U T IR o

& forg wafw @
b) $ad HYUT Il YT BT I A
& fore yufw @
c) ®iIg Wt YT YR BT W oA
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c)Either of the statement is sufficient

to answer the question

¥ e watw @
d) &5 Ht $YT U BT I A

d) None of statement is sufficient to a?muufwr?é’r%

answer the question

44. How many Fridays are there in a | 44.30 ﬁ’ﬁﬂﬁ@ﬂﬁe{ﬁﬁﬁﬁ
month with 30 days? IEPAR Bid &2

I. The month starts on a Saturday. . 'FI%:FIT AR ¥ = @T‘IT %I

Il. The month has no more than 5 |Il. 'Flﬁe[ A 5 I 3iftre Iqar Hﬁ
Sundays. gl

a)Only statement | is sufficient to |a) $ad $YF | YA $T SR o
answer the question & ﬁl’l;f g %

b)Only statement Il is sufficient to |b) Had PYT 1| Y BT IR aef
answer the question & forg yaie 8

c)Either of the statement is sufficient
to answer the question

d)None of statement is sufficient to

c) BIs Wt FYT U BT IWR A
¥ oo yafw @
d) &5 Ht $YT U BT I A

answer the question & ﬁl’E i 7-I€f %

45.What is the day after tomorrow? | 45. TRl T &2

I. Today is a Tuesday. 1. TSl HITEAR g1

Il. The day before yesterday was a|ll. TRl IfaarR .

Sunday. a)Hhad HYT | YA BT IA ¢4 &b
a)Only statement | is sufficient to ﬁl’E gl %

answer the question

b)$ad HUT | YT BT I a1
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b)Only statement Il is sufficient to
answer the question

c)Either of the statement is sufficient
to answer the question

d) None of statement is sufficient to

answer the question

& fore yaiw 8
o®ig W YT U= T I e
& fore maia 8
d)®ig W FUT YT BT IR oA

¥ fore yafew 8 2

46. When is the next Friday? 46. 3Tl [hdIR GIRIRC G & %?

I. The next month has only 30 days. 1. 31T 'Flﬁe[ﬁ *dd 30 ﬁ_-[ %'I

II. Two months from now, the 13th | Il.3{d 3 a Tlﬁe[ dig 13 ?I'Iﬂﬁ
falls on a Monday. AR &I tl@ﬂﬁl

a) Only statement | is sufficient to | a) $ad HYF | YA $T SR o
answer the question & forg ygie 8

b) Only statement Il is sufficient to b)m DY Il YT BT 3R aef
answer the question & ﬁl’E epa1ivs) %

c)Either of the statement is sufficient
to answer the question

d)None of statement is sufficient to

c) ®is Wt FYF U= BT IWR A
¥ o yafw @
d) ®Is Ht YT U BT IR ¢4

answer the question & ﬁl";’ gl T-Iﬁ%

47. In a clock, the angle between the | 47. Udh El?ﬂ H 12:10 WX °¢ &t
hour hand and minute hand at 12:10, '\3'5: 3R e &t ﬁ's: & d @1
is? I BT 82

a)60° a) 60°

b)305° b)305°
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c)120°
d)265°

c)120°
d) 265 °

48. An accurate clock shows the time
as 2 : 00. After hour hand has moved
165 degree, the time would be -
a)7:30

b) 5:30

c) 6:30

d) 8:30

48. T 9P US! Ay fe@rdt &
2: 00, §¢ BT Jg B 165 T Mt
I &[ & 91g , THI NI -

a) 7:30

b) 5:30

c) 6:30

d) 8:30

49. If a month in a year starts with
saturday, then the date of the third
day after the second friday in that
month, will be?

a) 15

b) 17

c) 22

d) 20

49. gfe fHAt ad &1 HIg AT
AR | FLE a1 g, df S4
e & gOY PhAR & T1G diey
fe @t aa = gl

a) 15

b) 17

c) 22

d) 20

50. When two positive integers A and
B are divided by another number D,
then the remainders obtained were
23 and 3, respectively. Further when
(A + B)is divided by D, the remainder

is 26, then the value of D is:

50. 919 &I Y= YUIT® A 3R B Bl
fodt o1 d=m p | faufora
far wirar 8, O W Juwa
HUM: 23 3R 3 AT 81 SHP
AT o (A + B) B D ¥
fawnfora fsan Smar 8, <t wwa

24




(a) 62 26 AT g, 9 D BT HM &
(b) 69 (a) 62
(c) 26 (b) 69

(d) The value will be greater than 26 |c) 26
d) | 26 & 31fer® g
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